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QUESTION 1

Given the code fragment: What is the result?

List<String> names = new ArrayList<>();
names.add {(“Joel”);

ndames ..4dd (M"Paul™)

names.remove {(0);

names.remowve (0);

System.out.println (names.isEmpty()):;
names.add (“Joel”);

namass.add (“Paul®™)

names.clear () ;

System.out.println (names.isEmpty ()):

A. false true

B. true true

C. false false

D. A runtime exception is thrown

Correct Answer: B

QUESTION 2

Which package would you import to use the Random class?
A. java.io

B. java.math

C. java.util

D. java.lang

Correct Answer: C

Reference: https://www.educative.io/edpresso/how-to-generate-random-numbers-in-java

QUESTION 3

Given:
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1. class Test {

2 /* comment text 1 */
3 // comment text 2 //
4. // comment text 3

5 and comment text 4 //
6 /* comment text 5

7 and comment text & */
8. }

At which line does a compilation error occur?
A.line 5
B. line 2
C.line 3
D.line 7

Correct Answer: A

QUESTION 4
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13 - public class App {

14+ public static void main (3tring[] args) {
15 int[1 nun;

16 num = new int[187;

17 )

18

19 }

JDK 11.0.4 v

CommandLine Arguments

Result
CPU Time: 0.13 secis}, Memory: 30348 kilobyte(s)

Given the code fragment:

String s = “Hello Java”;
System.out.println (s.length()):
s.concat (M“SE B™):
System.cut.println (s.length (});

What is the result?
A.9

B. 10

C.9

D. 10

Correct Answer: B
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QUESTION 5

Which statement is valid?
A. int 2 totalScore = 0;

B. int total-score = 0;

C. int totalScore2 = 0;

D. int total score = 0;
Correct Answer: A

Reference: https://liveexample.pearsoncmg.com/html/TotalScore.html
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